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ERER 350 450 550
HDEE 255 310 350
o, BT $245H7 $295H7 $345H7
RiETL 216 265 315
EATHEEE 14H7 14H7 18H7
AR 18h7 18h7 18h7
R AR S 3A (FANUCHS) aiF12 aiF22 aiF22
LR BRI x103kg-m? 3.48 6.14 5.84
[x103gf-cm-sec?] [35.50] [62.63] [59.57]
rRES kg 330 520 720
ROREL 1/90 1/90 1/120
R B EERE min”'
e 222 22.2 16.6
DERBE(RTR) 1 15 15 15
FEFX SHE SHE SHE
S N-m 3,300 4,700 6,500
/HEHR3.5MPal35kgf/cm?] [kgf-m] [337] [479] [663]
IR N-mlkgf-m] 1,942[198]) 3,276(334] 4,716[481)
SIS 400 700 1,000
HE kg d
P %E (800) (1,400) (2,000)
F ﬁ N 50,000 85,000 150,000
O Ikefl [5,099] [8.668] [15,296]
Nt FXL ¥ N-m 3,300 4,700 6,500
(EETER) [kgf-m] [337] [479] [663]
FxL A Nem 3,600 7.300 15,000
lkgf-m] [367] [744) [1,530]
= W-D? o kgem?
BA = A 6.1 17.7 37.8
THimt: 8 [kef o [62] [180] [385]
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255 | 484 | 227 474 | 701 | 300 ¢350/¢245 ¢216 ¢215 20 @ 279
310 | 579 267 584 851 340 ¢450 $295 ¢265 270 20 | 319
350 | 659 307 624 931 365 ¢550 $345 ¢315 ¢$320 20 | 344






